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8. (6 points) This problem has THREE parts. Let a and b be elements of finite
order in a group G.

(a) LIST two hypothesis so that if a and b satisfy these hypotheses, then the
order of ab is equal to the order of a times the order of b.
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ab=hq

(b) Give an EXAMPLE where the FIRST hypothesis holds, but the SECOND
hypothesis fails and the conclusion fails.

Tebe ¢ @up P & Dzt O(T)72 E@)=3  anl3 ke
e lg1o-df Prise bat TP LT ad O(TPI=2 + 2.3

(¢) Give an EXAMPLE where the SECOND hypothesis holds, but the FIRST
hypothesis fails and the conclusion fails.
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